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	2019 June Braindump2go Cisco CCT 640-692 RSTECH Dumps with PDF and VCE New Updated Today! Following are some new

640-692 Exam Questions:1.|2019 Latest 640-692  Exam Dumps (PDF & VCE) Instant

Download:https://www.braindump2go.com/640-692.html2.|2019 Latest 640-692  Exam Questions & Answers Instant

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNRm1QY0FsaTA2eHc?usp=sharingNew QuestionWhich layer of

the IOS model defines how data is formatted for transmission and how access to the physical media is controlled?A.    PhysicalB.   

Data linkC.    NetworkD.    TransportAnswer: BNew QuestionWhich type if memory is used to permanently store the Cisco IOS

software?A.    FlashB.    DRAMC.    SRAMD.    NVRAMAnswer: ANew QuestionWhat is the default operating mode you are

initially logging into a router?A.    global configurationB.    privileged EXECC.    ROM monitorD.    user EXECAnswer: DNew

QuestionWhich two of the following are component of WAN connection? (Choose two)A.    routerB.    switchC.    CSU/DSUD.   

HubE.    BridgeAnswer: ACNew QuestionWhich access level allows a person to access all router commands and can be password

protected to allow only authorized individuals to access the router?A.    User EXEC levelB.    Setup EXEC levelC.    Enable EXEC

levelD.    Privileged EXEC levelAnswer: DNew QuestionWhich of the following CLI prompts indicates that you are working in

privileged EXEC mode?A.    hostname#B.    hostname>C.    hostname-exec>D.    hostname-configAnswer: ANew QuestionWhich

of the following show commands requires you to have privileged EXEC mode access?A.    show ipB.    show versionC.    show

running-configD.    show interfacesAnswer: CNew QuestionWhich connector does a UTP cable use?A.    MT-RJB.    SCC.    STD.  

 RJ-45Answer: DNew QuestionWhich of the following connectors are used by fiber? (Choose the 3 best answers.)A.    MT-RJB.   

SCC.    STD.    RJ-45Answer: ABCNew QuestionDrag and drop questionAnswer: New QuestionWhile performing password

recovery on a Cisco device, the configuration register should be which value in order to bypass loading the startup configuration?A. 

  0x2102B.    0x2112C.    0x2122D.    0x2142Answer: D!!!RECOMMEND!!!1.|2019 Latest 640-692  Exam Dumps (PDF & VCE)

Instant Download:https://www.braindump2go.com/640-692.html2.|2019 Latest 640-692  Study Guide Video Instant Download:

YouTube Video: YouTube.com/watch?v=fhTU3XCVmDk
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